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- #library

o #header

- int
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<header <char.h#- _

<header <int.h#- -

<header <string.h#- »
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- switch

- whileC
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- chars

§all o3 (g3 o3l g4 ral.x545'

- intwl

- float.

- double,

- chars
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- else_

- bool

- fors
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- switch
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For(i=10;i>5;i--)

{

Y=xX++;

}

Cout<<"y="<<x+1
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Int*b=&a

Cout<<*b+10
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Char str[20];int i=0

Cin>>str

While(str[i])

{

If(str[i]>=65 && str[i]<=90)

Str[i]=str[i]+32
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try{

cin >> a,b

if (b==0) throw 0

else if (a/b!=1) throw 'a’
}

catch(char ch){

cout <<b << endl

}
catch(int n)

cout << a<<endl
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Class test{

Inta

Test(int a){
This->a=a}

int operator -(test t){




Test tmp
Tmp.a=a-t.a
Return tmp}

Int geta(){

Return a}

Int main(){

Test t1(5),t2(3),t3(0)

(test operator -(test t 4 Jsu ¢int operator - (test t)T3=t1-t2

-dllint operator -(test t) 4 o ¢ test operator -(test t)
- Test t3(0) & Jsui o tmp t3(0)

~ZT3=t1-t2 & Jyo5 9 tmp=t1-t2
CST3=t1-2 a5 Jsoui o t3=t1+2

Cout<<t3.geta()
}
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int func()

{

Static int x
X=1

X*=2
Return x

{

Int main()

For(int i=0;i<5;i++)
Cout<<func()
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Void fl1(int &a ,int &b , int ¢)
{

A+=10

B+=3

C*=4

3

Int main()

{

Int x=4, y=2, z=5
F1(x,y,z)
Cout<<”x=”<<x<<”\tﬂ
Cout<<’9y=99<<y<<99\t"




Cout<<’z="<<z<<"\t"

}
X=10 y=5 z=5-

X=14  y=5 2220
X=14  y2 =5




